—

[

[3)

S

1

=)

3E)-7¥ IEHIR ( U133 )v—7» B A Tk FHAE
1 2 3 4 5 6 7
B e | w | TEIR
VE\r&C URAR—Y VRVURFC | BETER | BREDEE | FCU7UTHE | S-Uans—) plals | @ | x| 5| E|E
LS N I 3
[ 1 [1 o] [o 4] [o 4] [0 1] [2 o]
0 14| 1 0 5[0 6|0 3|4 1
VEN\»&C 3 o 1 0 1 0 2 o 2 2 1 1|4/ 4|5|3|-2/6]|6
A X X X 0]
[11 o] [1 o] [5 o] [o o] [5 0] [7 o]
14 6 10 12 014 0|20 0
URR—Y 30 50 51 2 0 9 o0 13 0 o|o0o|18/66| 1 |65 1] 1
O (@] (@] @] O @]
[1 o] 1 [2 0] [0 0] [5 0] [4 1]
1 0 6 3 ofo 0|5 0|9 1
LRUREC 0 1 5 1 0 0 0 0 0 5 0 21 1/11/18/ 8|10 3| 3
A (@) A O O
[4 o] [ 5 [o 2] [0 4] [1 1] [3 0]
. 5 1 10{ 0 0 5|2 1|7 0
B B rheky 1 0 5 o 1 o 1 1 0 4 0 0 3/ 9|15/19/4,41]4
O X X @] @]
[4 o] [ 0 [o o] [4 0] [0 0] [6 o]
6 0 2|0 5 0 1 0fu 0
FHRFTG P2k 2 0 2 0 0 1 o0 1 0 5 0 11183/ 23| 2 (211212
O A O O O
[1 o] [ 5 [o 5] [1 1] [0 o] [4 o]
3 0 14] 0 1 2|0 1 10 0
FCY 7V T# & 2 0 9 ) 0 1 0o 1 6 0 0| 4/ 6|14/22|-8, 5|5
O X X X @)
[0 2] [ 7 [1 4] [0 3] [0 6] [0 4]
1 0 20| 1 0 7|0 1] 0 10
ST HNAr—) 1 2 13 0 5 0 4 0 5 0 6 0/6|0| 216159 7|7
X X X X X




